[ Efficiency vs vertpos |
- 05

Q.45 e b e
e : : :
S, 0AE e o S
§0.35F oo R R A
0.3 oo H—
e RSSO A—
P T— —
0.1 ---ereesienseraneeas oo f

oo il b

ettic

; s

1.2F

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

Efficiend —— DQM_V0001_R000000001__Global_mkFit_var
ICleNnd _,__ pQM_Vv0001_R000000001_ Global__mkFit_jcoreNoClean

N 0.2
L T e
» o : : : : :
0 I e S A
> . . . . H
8 _ . . . . .
$0.14F
o L
£0.12F
(]
0.1
0.08F
0.06F
0.04F
0.02F
L0OF

Ratio

R R St] | | N SO EH SRS

O RS SRS 108 | | 1.

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
N 0.2
>
20.18
£
=0.16
£0.14
oy
20.12
0.1
0.08F -1+
0.06F -+
0.04F -+
0.02F -4+

...................................

............................................

efticie

Ratio
P
=

=< |

208 6 4 20 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


